Graphing Motion
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Imagine a car at a stop light. When the light turns green, the car moves forward,
continually getting faster and faster at a constant rate.

/
Ve

| DC@CLWB

/S

g

-

Imagine a ball tossed vertically. \ S\MS dk\ll)(\
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Other Examples:
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Velocity Vs Time Graphs ) )
For velocity versus time graphs the O\@ LU T Uf\-.,’{- gives us the

displacement. G0
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Example: The velocity-time graph below depicts the motion of a car. Assume a
positive y axis represents West.
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Calculate: a. the acceleration from 0.0-5.0s
b. the car’s displacement from 0.0 -15.0s
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Example: The velocity-time graph below depicts the motion of a dog. Assume a

)positive y axis represents North. Calculate the displacement from 0.0 - 9.0 s.
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